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Overall Description:
Some operators or network simulators apply the specifications in a way that Wavecom believes is not always clear and Wavecom would like to get some clarifications on the expected behavor in the following cases:
Reject Cause #17 “Network Failure”
According to TS 28.008, §4.4.4.7, the “official” Location reject causes are #2, #3, #6, #11, #12, #13 and #15. 

The cause #17 is identified for ABORT, CM SERVICE REJECT and COMBINED GPRS ATTACH (for GPRS Only) messages only.
Anyway one of the reasons for Timer T3211 to start is “LOC_UP_REJ with cause 17”.

Is there any specific procedure to follow in this particular case (Reject cause 17 in Location Update Reject Message) or should the MS follow the behavior specified in TS 28.008, §4.4.4.9 for abnormal cases?

HPLMN Initial search Timer (2 min boot Timer)
Eventhough GP-050205 clarifies the use of the Initial HPLM Search Timer (2min Boot Timer), the quickest MS are sometimes considered as Failing this particular point.
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According to the clarification done in the Core Specifications, the Timer T2 (between Switch On and HPLMN Registration) must be at least 2min long, Thus, in certain cases where very few cells are available, the time between the 2 registrations (T1)  can be lower than 2 minutes. 

Ex: if the first scan takes 20 seconds and then the second one only 10 seconds, as very few cells are seen by the MS, the timing could be as follows:

· The MS registers 20 seconds after switch On (T2-T1=20 sec)
· the MS scans for the HPLMN (or a Prefered PLMN) 2 Minutes after the switch On (2min Boot Timer), ie 1min40 sec after the first registration.

· the MS registers 10 seconds after the scan.

In this case we will have T2=2min10 sec but T1=1min50 sec…
T1 < 2min (time between the first registration and the following) must not be considered as a Failure…
Wavecom would really appreciate a common GERAN clarification or agreement on that specific point.
